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MULTIPLE CHOICE QUESTIONS ]

[ EXERCISE - 1l I

B,C,D

9.

A,B,C,D
A’=g = 0.40 o? = 10

mg = Kx X, = 10 —2cm b) Negative Extreme
° 500 10. B,C,D
—du
o= 22 _ 1045 ¢ u=5x2-20x = F=—2_ _10(x - 2)
1 sec dx
_ , A > M.P.at x = 2m
. Maximum velocity = Ao = 3x1072 x 10./5 11. A,B
m n — 2 — 2
— 30./5 cm/sec. = Max™ Acc" =Aw? = 15 m/s V2R SIN60 _ %
2. A
2« Lkar = Lkar - Thfi e
A=A = A=A = Tl ///<
60
. (10 T
=2sin|—t - — >
3. B Y b J \\\///
4. B, C
X2t 27
Phase by w = 30 = ? 12. A,B,C
1 1 1
Phase by 2w:¢+2w><27f3w, Emv2 = Ema)z (A2 -x*) = EmcozA2 (0.64)
4 27 27 4w 1 2.2 1 2,2 1 2 02
LT == = —Mw A —=—mao°X- = =—mw-A°(0.64
¢+3 3 0,2m, 47 ¢ 33 > 1) > ) 5 ® ( )
5 A PutA=10cm.=>x=6cm.
13. B,D

14.

15.

x = 3sin100t + 4 (1 + cos 100t)

X = 5sin(100t +tan %) +4

M.P.isat 4 with A =5
A

F = -Kx
C,D

X = asinat «.. (1)

Slope = -K

6. A,B,C y —a=-acosowt....(2)
X = Ssin(47rt +tan™ %) W +QR7 = (y-a)+x2=2a
7. C 16. B,C,D
v =0’ (A2 — xz) F =-Kx
2
V—2+x2 =A*>  ---- Ellipse

®
vi= <A2 — a)zxz) , a=-0?X, al= w'x?

2

a
V2 — [Az =S| = v? +a_2: A® ---- Ellipse
8. B ’
Vz — 108 _ 9X2 — V2 - 9[12_X2] 17. A,B,C
dv = -0

=>2v—X:—2X><9 S>a=-9x=>w*=9 v = oA &w—2'5—4
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(@ T==L-157
w 2

(b) a = w?A =40
(O v =w'A? x> =221

18. A,C

V= /% /(22_12):10\/§x\5 =30m/s

M.C.3x30=9xvVv =v=10m/s

10_\/9;@,/@2 ~1’)= A=2m

19. B,D
T w 5n . (27t 5x
== X = Asin|— + —
27376 7 [T 6}
27 T
X =Acos|—.t +—
[T +3}
NI
20. B

T = Zw\/g ----> not dependent on q

the velocity of particle

eff*®

at M.P. =V, ..V, = Ao,
v @o

22,

23

24

25.

R

| 3m
k
mg mg

F > 3mg

A,C

fvz.dt
Vrms -
fdt
. B,C

KE Average = %KA2 = mn’f?A?

PE Average = mn2f2A2

. B,C
1 2 1 6 —4
—KA> = =x2x10°x10* =100
2 2
-.60] P.E. at M.P.
Max"K.E. =100 joule
Max"P.E. = 160 joule
B

| /\ , ot

A

Initial phase is zero. () TE » ot
i
A |-t R
Xo = % (d) velocityl /\ /\, ot
............ %l 4 5
21.
K
l3mg
3m
kx > 3mg d= 2mg
k
3gm
X 2 K F=kd+ kx =3mg
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